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Unit 1

Unit 1
Part A

Directions:
Read the following four texts. Answer the questions below each text by choosing A, B, C
or D. Mark your answers on ANSWER SHEET 1. (40 points)

Text 1

Of course, it is good to be polite. And, as a result, in most places these days it is im-
possible to know what someone is actually thinking when he meets or works with someone
of another race. Politeness makes it unacceptable to express prejudice, even if those atti-
tudes are actually there. How hard do people work to overcome a prejudice that they feel
but are not allowed to express? Jennifer Richeson, of Dartmouth College in New
Hampshire, attempts to give an answer.

In a study carried out earlier this year, she and her colleagues found that racially bi-
ased people take longer to perform tasks that require a conscious effort to control their ra-
cial responses and actions. This effort is known as cognitive control. The researchers sus-
pected, as a result of this earlier study, that there was a physical mechanism, which they
called resource consumption, underlying this lag in performance. In their latest paper,
they think they have proved this theory. :

The researchers recruited 30 white students as volunteers, and attempted to identify
their racial attitudes using the Implicit Association Test (IAT). During an IAT, volun-
teers match positive and negative words such as “health”, “beauty”, and “ugly”, with
names traditionally associated, at least in the United States, with black or white Ameri-
cans. The IAT measures response times to these uncomfortable questions, and assigns
higher levels of racial bias to white participants who are slower and less accurate in matc-
hing black names to positive attributes, and vice versa. The results of the IAT were used
as a baseline from which to assess each volunteer’s underlying prejudice.

That done, the participants carried out a Stroop colour-naming task. In a Stroop test,
participants must identify the ink colour in which words such as “red” or “blue” are prin-
ted. Subjects have to think harder to identify the colour red, for example, if it is used as
the typeface for the printed word “yellow”. As predicted, the volunteers who had scored
higher levels of racial bias in the IAT test took longer to complete the Stroop test than
their peers.

The bottom line, it seems, is that it is tiring to suppress racial prejudice. Further-
more, this has impact on a person’s subsequent attention and performance. What this ex-
periment does not answer, of course, is whether the prejudiced participants were striving
to overcome their prejudices, or merely to cover them up. Dr Richeson remarks of her re-
sults that, “there’s a subtle, but powerful, difference between trying not to do the wrong

e 1 .
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thing, and building positive habits through friendships and cultural exchange, so that do-
ing the right thing becomes our automatic response. ”
1. The word “resource” (Sentence 3, Para. 2) refers to
[ A] tolerance of others’ impoliteness.
[B] mental ability to perform tasks.
[C] enthusiasm for performing tasks.
[D] the courage to express real thoughts.
2. During an IAT, volunteers are required to
[A7 make a list of American traditional names.
[B] make out what names are their favorites.
[C] illustrate the relation of blacks and whites.
[D] connect human qualities with some names.
3. These days, those who have higher levels of racial bias might
[A] get higher scores in the Stroop test.
[B] can’t identify the ink color on the Stroop test.
[C] be inefficient when working with different races.
[D] treat blacks worse than others do.
4. Which of the following is true about the Stroop test?
[A] It is specially used to reveal racial predudices.
[B] The word “yellow” has a typeface of red colour.
[C] The various colors in it are hard to differentiate.
[D] It entails much concentration of the subjects.
5. Which of the following may Richeson suggest to those racially biased people?
[A] Cover the racial prejudices up.
[B] Try not to do the wrong thing.
[C] Take measures to remove biases.
[D] Make a healthy habit of living.
Text 2

Just when you thought you knew the web, along come new competitors to keep things
interesting. On September 15™, a new search engine called A9. com was unveiled by Ama-
zon, the giant internet retailer. It repackages Google's search results, but with useful
tweaks. Searches not only call up websites and images on the same page, but other refer-
ences, such as Amazon’s book search, the Internet Movie Database, and encyclopaedia and
dictionary references. Moreover, it keeps track of users’ search histories — an important
innovation as search becomes more personalised.

Many had assumed the market was stitched up by Google and Yahoo! (who account
for over 90% of searches), barring the expected entrance of Microsoft. Likewise, the
market [or online music seemed settled: Apple’s iTunes is the leader, its main rivals being
Real Networks and Microsoft’s MSN Music. Yet this, too, understates the potential for

e 2 .
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battle. Last week, Yahoo! bought Musicmatch, an online music retailer and software
firm, for $160m. Music downloads are now worth roughly $ 310m annually but are fore-
cast to grow to $4. 6 billion by 2008, according to Forrester Research, so there is room
for new firms to sprout.

Meanwhile, the most surprising new competition is in web browsers. Microsoft was
the undisputed champ, after bundling Internet Explorer with its Windows operating sys-
tem in the 1990s and destroying Netscape. However, Microsoft’s browser is so vulnerable
to attacks by online crooks and various troublemakers that the American and German gov-
ernments have recommended that users consider alternatives. This has been a boon to two
small browser-makers, Opera, a Norwegian software company, and Mozilla, which devel-
oped the Firefox browser based on an open-source version of Netscape. Firefox boasted 1m
downloads within 100 hours of its release on September 14",

Security has become the main competitive difference. The software of both Opera and
Mozilla is considered safer (partly because they have fewer users and so are a less attrac-
tive target for hackers). Microsoft’s share of the browser market has actually shrunk over
the past three months from around 96 % to 94%. It is a highly symbolic phenomenon, al-
beit a modest decrease. ‘Even Google is thought to be toying with the idea of launching its
own browser.

Underlying this ripple of competition is the ability of large companies that already
benefit from economies of scale to extend into new areas, says Hal Varian, an economist
at the University ol California at Berkeley. That explains Amazon’s A9 search service and
Yahoo! 's move into music. As for browsers, “Microsoft had a lock on the market and
just dropped the ball. Microsoft hasn’t provided any innovation in the browser area and
they had poor security,” he says. The message: watch your back.

6. Compared with A9. com, Google
[A] offers fewer references. [B] presents less effective search.
[C] has a darker [uture. [D] provides more personalized services.
7. The development of Opera and Mozilla is owing to
[A] their promise of high-speed download.
[B] the defect of Microsoft’s browser.
[C] the funds granted by the governments.
[D] the shrinking market share of Microsoft.
8. Which of the following word can replace “stitched up” (Sentence 1, Para. 2)?
[A] Dominated. [B] Threaded.
[C] Repaired. [D] Excluded.
9. Which of the following is true according to the author?
[A] A9. com will be much more popular than Google.
[B] Music downloads will be worth $ 4. 6 billion in 2008.
[C] A company’s size acts on its expansion ability.

e 3.
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[ D] Google is now hatching its own web browser.

10. The best title of this passage may be

[ A] Microsoft, a Faded Star. [B] Competition, Still on the Web.
[C] A9, into the Sunrise. [D] Security, a Decisive Factor.
Text 3

To Ladan and Laleh Bijani, 29-year-old twin sisters joined at the head, a chance to
live separate lives was more important than life itself. Despite 50-50 odds of dying from
surgery and doctors’ best efforts to talk them out of it, the twins never wavered in their
determination to be separated. They lost the gamble. lLast week, both women bled to
death on the operating table at Raffles Hospital in Singapore after 50 hours of surgery.
The operation was the first known attempt to separate adult twins joined at the head. The
women's bodies, separate at last, were sent to their home country, Iran, for burial.

Now, opinion is divided as to whether doctors should have even tried to operate, and
whether a patient’s wishes, however desperate, are enough to justify a risky and experi-
mental procedure.

Supporters of the surgery say the sisters, intelligent and well-educated law school
graduates, understood the risks and had every right to take theni. Critics argue that the
risks were too high and that doctors had an ethical obligation to say no.

The decision to operate was defended by Dr. Benjamin S. Carson, who was part of
the team of doctors to work on the Bijanis. Dr. Carson was called in by doctors in Singa-
pore because he had separated several sets of infants joined at the head. At a press confer-
ence in Singapore shortly after the women died, Dr. Carson said they were so determined
to be separated that he felt compelled to try to help them, adding, “I was convinced they
would seek separation no matter who performed the surgery. ”

Dr. Mark Siegler, director of the Macl.ean Ethics Center at the University of Chica-
go, said that even though the twins consented to the operation, it violated ethical stand-
ards for experimental surgery and should not have been done. What made him oppose the
surgery was the 50 percent risk of death. “You need responsible judgment on the part of
the surgeon.” he said. “For an operation that was not medically necessary., a 50 percent
risk of death was too high. Such high risks are acceptable when a patient is likely to die
without surgery. But that wasn’t the case here, where the surgery was done not to save
lives but primarily to meet the psychological needs of the twins.” Dr. Siegler said it was
also troubling that the team in Singapore had decided to go ahead with the operation even
though other surgeons had declined on at least two occasions, saying it was too dangerous
and likely to kill one or both twins. And he questioned the surgeons’ decision to proceed at
the representative’s request when their medical judgment seemed to suggest a different
course.

11. According to the passage, which of the following is TRUE?

[A] The doctors tried hard to persuade the twins not to take the operation.
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[B] Risky operations like this should not have been performed.
[C] The twins had great confidence in the doctors performing the operation.
[D] The twins died 50 hours after the operation.
12. The twin sisters insisted on taking the operation because
[A] the doctor had separated several sets of infants joined at the head.
[B] they would rather die than live unseparated.
[C] there was 50-50 odds of success for the separation operation.
[D] they were likely to die without the operation.
13. The doctors who performed the operation defended the decision on the ground that
[A7] they had experiences in doing operations like this.
[B] the twins were likely to die without the operation.
[C] the twins had made up their mind to seek separation at any cost.
[D] the hope of success was as great as the risk of failure.
14. Doctors who are opposed to the operation argue that
[ A7 the twin sisters did not understand the risk of surgery.
[B] the risky operation was not medically necessary.
[C] the twins were not physically healthy enough for the operation.
[ D] operations should not be done to meet psychological needs.

15. The author’s attitude towards the operation can be described as

[A] supportive. [B] critical.
[C] sympathetic. [D] neutral.
Text 4

Faded star finds new happiness with samurai; James Bond will soon be in bed with
Charlie’s Angels; Rocky Balboa will team up with Spider-Man; MGM will cease to be
Hollywood’s last big independent movie studio; and, at the age of 87, Kirk Kerkorian,
who holds 74% of MGM’s shares, will add another $ 2.1 billion to his existing billions.
Such are the immediate consequences of the tentative agreement reached on September 14"
by Sony Corporation of America, owner of the lissom Angels and the amazing wall-climb-
er, to buy MGM. Assuming approval by the MGM board on September 27", and no anti-
trust objections, a Sony-led consortium will pay about $ 2. 94 billion in cash and assume
about $ 1.9 billion of MGM debt.

The deal ends months of wrangling, with Mr. Kerkorian — who has now bought and sold
MGM three times — dangling the prize of its library of 4,100 film titles and 10,000 TV episodes
before not just Sony but Time Warner. Until just hours before the deal with Sony, it had seemed
that Time Warner, ready to bid $ 4. 6 billion (counting in the debt), was the front-runner. But
then its chairman announced that it could not reach agreement with MGM “at a price that would
have represented a prudent use of our growing financial capacity. ” Even after three years, the
bruises of Time Warner’s merger with AOL are yet to fade.

So is the Sony consortium paying too much? Sony itself is putting up some $ 300m.

« 5 e
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The rest will come {rom banks and private equity. The key may be the last-minute involve-
ment of Comcast, a cable company, as a programming and distribution partner with cash
maybe to come later. Comcast is linked to 22m American households; that will ensure
some reassuring cashflow to the consortium. Indeed, Sony, which already owns the Co-
lumbia and TriStar studios, expects to buy out its partners, except for Comcast, within
five years. For Comcast, which last year cast an eye over Universal and this year made an
abortive bid for Disney, the attraction is a mass of new content, from both the MGM and
the Sony film libraries, to sell as video-on-demand.

Some MGMpathists — the kind who swooned over “Gone with the Wind”, blubbed
over “Brief Encounter”, sang with Elvis in “Jailhouse Rock” and giggled at the Pink Pan-
ther — will grieve {or the loss of MGM's independence. But the roar of the MGM lion is
not what it was: exploiting the library has for some years counted for more than adding to
it. And 007 will surely not complain.

16. It can be learnt from Paragraph 1 that

[A7] faded stars will be better treated in the new corporation.

[B] Kirk Kerkorian will add more to his MGM shares.

[C] no big Hollywood movie studio will be independent.

[D] Sony-led consortium will owe MGM about $ 1.9 billion.

17. What can be inferred from Paragraph 27

[A] MGM'’s films and TV episodes won more prizes than those of Time Warner.

[B] Time Warner abandoned the deal because MGM wasn’t a valuable asset.

[C] Kerkorian has often been selling and buying MGM for maximum margin.

[D] Negative effect of the merger with AOL is still haunting Time Warner.

18. According to the passage, Comcast

[A] somewhat looks down upon Universal.

[B] abandons itself to merging movie studios.

[C] feels the necessity for a vast film bank.

[D] intends to make the cash flow faster.

19. It is implied in the last paragraph that

[A] MGM will not be as glorious as several years ago.

[B] 007 will return to silver screen in the near future.

[C] making new [ilms was less profitable for MGM.

[D] there will not be the brand of MGM any longer.

20. The author’s attitude toward MGM’s deal with Sony seems to be

[A7] opposed. [B] approving.
[C] suspicious. [D] enthusiastic.
Part B |
Directions.

For questions 21-25, choose the most suitable paragraphs from the list A—G and fill them
s 6 ®
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the numbered boxes to form a coherent text. Paragraph C has been correctly placed.

There is one paragraph which does not fit in with the text. Mark your answers on AN-
SWER SHEET 1. (10 points)

[A]

[B]

[c]

(D]

[E]

[F]

[G]

The main point of contention is whether policymakers should try to speed up that
process with yet more financial stimulus. On the congressional campaign trail Repub-
licans tout high unemployment as proof that stimulus has failed, while Democrats,
though they dare not use the “S” word, argue that more must be done to prop up
growth. At their annual gathering in Jackson Hole this week, Federal Reserve offi-
cials are chewing over when and how the Fed might try to boost the feeble jobs mar-
ket by printing more money to buy government bonds.

The economy stopped shrinking a year ago, but America’s unemployment problem is
as big as ever. The official jobless rate was 9. 5% in July, and would be higher still
had many people not given up searching for work. Some 45% of the unemployed have
been out of a job for more than six months — the highest proportion since the 1930s.
And judging by the recent rise in applications for unemployment benefits, the situa-
tion may soon get worse rather than better.

This focus on stimulus is understandable. America’s economy is still operating well
below its potential and there is little doubt that most of the rise in unemployment is
the direct result of this. But unemployment is high for other reasons too — ones
largely neglected in the current debate. Thanks to the scale and nature of the housing
and financial bust. the labour market has almost certainly become less efficient at
matching the supply of jobseekers with the demand for workers. People saddled with
mortgages worth more than their homes are less able to move in pursuit of new jobs.
Why is joblessness still so high? The prevailing view among policymakers is that un-
employment is a painful reflection of the economy’s weakness. Americans are out of
work because the slump was deep and the recovery has been weak. Stronger demand
will eventually solve the problem.

As long as vacancies remain low, unemployment will remain high. This is a stable
economic relationship. It is, however, a poor guide to the recent behaviour of
America’s labour market. In 2009 a fairly steady stream of job openings did not stop
unemployment rising from 7. 7% to 10%. And in the first months of this year vacan-
cies jumped, with little effect on the jobless rate.

The speed of the recovery will still be the main influence on the jobless rate. But if a
chunk of America’s unemployment is structural, its policymakers need urgently to
think beyond stimulus measures. and also to adopt more targeted policies to help the
millions stuck in the wrong place with the wrong skills. Otherwise, even a return to
brisk economic growth (something that scarcely looks likely right now) will not be
enough to rescue them from the breadline.

Getting the to-do list right is trickier, not least because misguided interference could
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make unemployment worse, But two avenues seem worth pursuing. The first is a
more determined effort to help those trapped in “negative equity” to restructure the
mortgages on their homes — an area where the Obama administration has been nota-
bly timid. The dire figures for house sales during July. released this week, show how
urgent this is. Legal changes, such as a revision to the bankruptcy code that allowed
judges to reduce mortgage debt, could help. The second line of attack is to overhaul
schemes that help workers retrain and encourage them to search for work. That need

not mean more spending (though America does spend a lot less than other rich coun-

tries on such “active” labour — market policies).
Order:
21. — | 22, — | 23. — | C — | 24, | — | 25.
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